THE DEFINITE INTEGRAL AND THE PRIMITIVE FUNCTION
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1 Evaluate J.O x* dx, L x” dx and show that J'o xldx=—L x* dx.
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2 Evaluate Ilzxz dx, J‘:x: dx, J‘:x2 dx and show that J‘:x: dx = jllx: dx + J‘:xz dx.
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THE DEFINITE INTEGRAL AND THE PRIMITIVE FUNCTION

5 Evaluate: (a) J.(:(Zx—S)dx (b) J‘:(3x+l)dx (c) f’(xz—‘!)d_x
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THE DEFINITE INTEGRAL AND THE PRIMITIVE FUNCTION

Evaluate

(9) J‘_:x%dx (h) J.( é—J\’T) (i) J::(‘/;—Q/;)dx
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THE DEFINITE INTEGRAL AND THE PRIMITIVE FUNCTION

13 lfr(‘l =3 hile =4, find e valueof o, 14 Ifj"' e = 0 Bl vl cfd,
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